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package weeklproject:
import java.util.Scanner;
Ranthor 33170153
puﬁlic class Weekl{mestiond {
public static void main({String[] args) {
int inputNum = 0;
final int invalidNum = -99%;
Scanner keyboard = new Scanner (System.in):
while (inputHum '= invalidNum) { //Check Input nu

System.ocut.println("Enter a line:"):
inputlum = keyboard.nextInt{); //Input result

System.cut.println("Your line: " + inputNum);
System.cut.println();



6)

Continuously keep track of: Running Total + Average + Smallest number + Largest number

8)

package weeklproject;

import java.util.Scamner;

public class WeeklQuestiong {

public static void main(String[] args) {

int inputlfum, largelim = 0, smalllum = 0, counter = I, total = 0;
float avg;
final int invalidthum = -555;

Scanner keyboard = new Scanner(System.in);

System.out.println{"Enter & number:");
inputlum = keyboard.nextInt(); //Input initial result

if [inputfum != invalidifum) { //Assign the initial largest number, smallest nurber and total for initial comparision
total = inputlum;
largelfum = inputlium;
smalllium = inputlium;

avg = (float) inputhhum;

System.out.printf("Total: %d Average: %f Largest lMumber: %d Smallest Number: %d", total, avg, largeMum, smalllum)
System.out.println();

while (inputhum != invalidWum) { //Check whether input is valid
System.out.println("Enter & nurber:");

inputlfum = keyboard.nextInt(); //Input result

total += inputlum; {/Feep track of running total
avg = (£loat) total / counter; //Fesp track of average inpuq

if {inputWum > largelum) [ /{Compare input to get current largest number
largelium = inputlum;

if (inputhum ¢ smalllfumj { //Compare input to get current smallest number
smalllium = inputlfum;

r: %d Smallest Mum

System.out.printf({"Total: %d Av
countertt;

r: &d", total, avg, largelum, smalllfum)

ige: %f Largest Num

System.out.println();

; //Outpit initial result

; {[/Output result



£ package weeklproject;

7

S .',!’A.A

;‘ *

10 * Rauthor 33170153

E1 *F

1z import java.util.Scanner;

o2 {

14 Epu.blic class WeeklQuestion3 {

E5

1e = public static void main{Stringll args) {

17

18 Scanner input = new Scanner(System.in);

5 boolean go = true;

20

21

2z = while {go} {

23

24 System.out.println{"Enter a ating point:™);
25 doukle inputfum = input.nextDouble(); //Input number
P

27 =] if {outOfRange {inputHum)}) { //Check if number is out of range
23 o
29 System.out .println("0ut of rangeT;
20

31 go = false; //End the while loop
22

3z } else {

34 .
a5 System.out .println{"Not cut of rangel;
36

av i 1

38 = }

35

a0 w guit.™¥;

41

42 - ¥

43

44

45

45

a7 i static boolean outCfRange (double d) |

43

45 =] if (d > 1000 {

50 return true;

51

52 - 1

53

54 =] if (@ < -100) {

55 raturn true;

56 - }

55

58 return falae;

55

0 = 1

gl

62 =}

Continuously get input but stop when out of range




How to Round float (input) = whole number

oy

package weeklproject;
import java.util.Scanner;

8 public class Rounder {
in = pubklic static wvoid main(String[] args) {
11
Scanner input = new Scanner (System.in) ;
System.out.println{"Enter =z
double d = input_nextDouble () ;
calcWholeNum("The rounded walue is",  d); //Round float —-> Number
i }
=] static woid calcWholeNum{String msg, double num) {
23 double floatNum = num;
24 int wholeNum = 0;
25 double decimalInInput = 0;
2 int roundDownWholeNum = [;
27 int roundUpWholeNum =
28 double decNumToRoundUp
30 boclean neg = {(floatMNum < 0} ;
31 = if (neg) {
32 floatHum = -num; //Convert negative float to positive float
33 = }
34
35 wholeNum = {int) floatNum;
36 decimalInInput = floatNum - wholeMum; //Core algorithm
37
=1} = if {(decimalInInput < {
39
40 = if (neg) {
41 wholeNum = -wholellum; f/Convert negative whole number to positive number
42 = 1
43
44 roundDowniWholeNum = wholelum;
45
4 System.out.printlnimsg + "" + roundDownWholeNum) ;
47 } else {
48
45
50 decNumToRoundUp = 1 - decimalInInput; //Core algorithm
5t
52 = if (neg) {
53 floatWum = -floatlum - decHumToRoundUp;
54 1} else {
55 floatNum = floatNum + decHumToRoundUp; //Core algorithm
56
59 = 1
58
59 roundUpWholeNum = (int) floatHum;
€0
61 System.out.printlni{msg + "" + roundUpWholeNum) ;
E2
€3 e }
c4
€5 = }
EE
67
68 }
€3 =



